Factor 18x" — 63x% + 9x.

a. 927 — 72+ b. 9x(2x* — 7x)

c 9x(2¢* — Tx+ x) (d) 9x(2x* = Tx + 1)

Express (kK — 1)(k — 1) as a polynomial.

a. kK + 1 b." 2k + 1 ) k2 —2k+ 1 d. K+ 2k+ 1
Express (5m + 4n)(m + 4n) as a polynomial.

a. 5m® + 8n’ b. 5m® + 16n°

¢. 5m* + 24mn + 8n* d,) S5m* + 24mn + 16n°

Express (2m — 3n)(2m + 3n) as a polynomial.

a. 2m® — 3n’ (b) 4m* — 9n?

c. 4m* + 12mn — 9p? d. 4m* — 12mn — 9n°

Factor 49 — a1 )

a. (> + N —T) (b) (7 + xH(7 — 1))

e. (2 + Tt —T) d. (7 —x%7 + 1%

Express (7r — 35)* as a polynomial.

. 497" + 957 b. 49-7 — 95

. 497 + 42r5 — 957 (d) 497 — 425 + 947

Factor @® — 2a + 1.

1. not possible b) (a — 1) c. (a+ 1) d. (@ -2y
Factor @ + ab + b,

1) not possible b. (a + b)? c. (a— by d. (a + b)a — b)
“actor y2 — Ty + 12. y

1. not possible b. (y — 12)y — 1) )y =3y -4
“actor x* + 16x + 48. B

L (x+6)(x + 8) b. (x + 2)(x + 24) (e) (v +4)(x +12)
“actor n® + 12n — 45,

1. (1= 9)(n + 5) b (n + 15)(n — 3) c. (n— 15)n + 3)
“actor x* — 14x — 48.

L) not possible b. (x — 16)(x + 2) e (x+4)x —12)
“actor 8a*> — 17a + 2. )

. (2a — 2)4a — 1) IJ (8a — 1)(a — 2) C. Ba—2)a—1)
‘actor 3(x — 2) — 4x(2 — x)i_

. 1 2x(x — 2) (by (3 + 4x)(x — 2) e 4y — 3ix—2)
‘actor 2’y — 50xy completely. )

L 2v(x® — 25x) b. 2xy(x — 5)° ©.) 2xy(x + S5)(x — 5)
actor m* — 9n® + 2m — 6n completely.

. (m+ 2)(m — 3n) b) (m + 3n + 2)(m —3n) c. (m+ 3n)(m — 3In)m — 3n)
olve 5a(3a — 1)(2a + 4) = 0,

) {0, &, —2} b. {0, 3, —2} ¢ {0, 3, —4 d. {0, 3, — 4}
am thinking of four consecutive integers. The sum of the squares of the

econd and third is 61. Find the integers.
. 14, 5.6, 7} b. {—10, —9, =8, —7)

. no solution dJ{—4, =5, -6, -7} or {4, 5.6,7)
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Factoring Polynomials




